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Perg. Resolução Cotação 
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1.  C   movimentos dos corpos relacionando-os com as causas que os 

produzem. 
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b) Dados 

v1=25m/s 

v2=50 m/s 

t1=1s 

t2=2 
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c)  Dados 

     a=2m/s
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     t= 4s 

     s? 
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3.  
 

 

 

Dados 

ρ=13.6 g/cm
3 

m=680g                       

V? 

                                            (0,5)                                   (0,5)     (0,5)     (0,5)   
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4.  a) Dados 

R1= 10Ω              

R2 = 60Ω                             (1,0)                     (0,5)              (0,5)                               

R3= 30Ω  

RT? 

b) Dados 

IT  = 3A 

R1 =10Ω                                                      (0,5)                (0,5)          

U1   ? 

 

c) Dados 

IT = 3A 

R// = 6Ω  

IR2? 

                                                        (0,5)               (0,5)                 (0,5)      
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5.   

 Dados 

U=2V  

I1=5A                                              (0,5)       (0,5)         (0,5)                                       

P? 

 

                 

 Dados          

U2=3V 

Δt=0,10min=6s                   (0,5)                  (0,5)                (0,5)                             

I2  ?          

W?                                 

 
                                                           (0,5)            (0,5)         (0,5) 
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6.  A   polo norte ao polo sul.    1,0 1,0 

7.  a)    mA 1,0=     

         (0,5)   

                  

b)     
                                      (0,5)                 (0,5)     (0,5)   

 

                                                           

c)    Dados    

        λ= 0,4m         

        f=60Hz   

         V = ?                                        (1,0)          (0,5)        (0,5) 
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